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PowerSeries

Math 2300 Caleulus Spring 2022
8.5: Power Scrics
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A power sories is an “infinite degree polynordal™. Tn other words, it o serics where we have o wariable =
! shle bedides the teration variable). ln general, it lools like:
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The interval of convergence is the inrerval of z-values for which a power sovies cotverges. The radins of
convergence is half the lengrh of the nterval of convergenee.
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Introductory Example:

x
For what values of  does the power series Y 2" converge?
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What is the radius of convergence of the power series 1 +x + & + % 4+ &5 +---7
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Example 2:

Find the inrerval and sacdins of convergenee of the series:
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Example 3: a1 F > 15 =15 8=\
Fiud the nterval and radive of conrvergence of the sevies: ML ‘1'/9 N > 1-"/8 --’7 -
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